
Tor (6
,
H) : = He (FQH) = ber (f +*D) /im (f2 *B)

-

Neopera Tor (6 , H) He zabum ofestope pesorbette F.

the yueo Otto any personbetting : F : 0-Fiefot 6-0/@H
frD

FH : O-F@H-FoQH6@H-0 (5 He ropo our inarou

Tor (G
, H) = ker (f-D)

=) Whano Tarant Hus :

O- Tor(G
,
H) F1@H- Foot - GQH-0

Oute (1) AurB Motegt=) Tor(A ,
B) = 0

(inrygiyauto Tor(A , 7) = Tor(2
, B) =0)

(2) Tor (7(n
, B) = Ker/B = B)

(3) Tor(n
,
[m) =+ , mi

(4) Tor (A , B) = Tor (B
,A)

(5) Tor (@A ,BlE TorlAB

1 Hera je O-B+C+De0 kut
.

A Aterba
.

Lorisoner
go

noroje nesman us otuka :

0> Tor(A , B) - Tor (A , C) -> Tor(A
, D) -> AQB+AQC- AQD + 0

percepte Otarumo O-BeC+D+0 a O
u Hero je

F : 0-#1-Fo-Ato choteko per .

Fre toby crorogue to

b xopusotuave y wegeter grjory mare :
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=> (izz) M(HanAi) = M/Ho MA:) = MCHanAil
=> Has wonder des Cynobe Ar

....,An
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